
CHEMISTRY

AAKASH INSTITUTE ENGLISH

CLASSIFICATION OF ELEMENTS AND

PERIODICITY IN PROPERTIES

Example

1. Eka-aluminium and Eka -silicon are known as

:

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_43j6oitJRock


Watch Video Solution

2. What would be the  name and

symbol for the element with atomic number

?

Watch Video Solution

IUPAC

120

3. How would you justify the presence of 18

elements in the 5th period of the Periodic

Table?

https://dl.doubtnut.com/l/_43j6oitJRock
https://dl.doubtnut.com/l/_p5NvhepIvBPj
https://dl.doubtnut.com/l/_52AXLOZpn6qV


Watch Video Solution

4. On moving across the period in the p-block

what is expected to the oxidizing power of the

elements ?

Watch Video Solution

5. The elements  and  have not yet

have been discovered, In which family group

would you place these elements and also give

the electronic configuration in each case.

Z = 117 120

/

https://dl.doubtnut.com/l/_52AXLOZpn6qV
https://dl.doubtnut.com/l/_O1cZj2L1HR79
https://dl.doubtnut.com/l/_0aEsfWrivXOs


Watch Video Solution

6. Considering the atomic number and

position in the periodic table, arrange the

following elements in the increasing order of

metallic character : Si, Be, Mg, Na, P.

Watch Video Solution

7. Which of the following species will have the

largest and the smallest size

https://dl.doubtnut.com/l/_0aEsfWrivXOs
https://dl.doubtnut.com/l/_5VlHlyxYjxLi
https://dl.doubtnut.com/l/_mHwBUQlMoTSn


?

Watch Video Solution

Mg, Mg2 + , Al, Al3 +

8. On the basis of their positions in the

periodic table which among the following will

have the largest atomic radii ? 

Be, N, O, Ne

Watch Video Solution

https://dl.doubtnut.com/l/_mHwBUQlMoTSn
https://dl.doubtnut.com/l/_W9fKVIPvWWkn


9. The first ionisation enthalpy 

values of the third period elements, 

and  are respectively  and 

. Predict whether the first 

 value for  will be more close to 

or ? Justify your answer.

Watch Video Solution

(ΔiH
o− )

Na, Mg

Si 496, 737

786kJmol− 1

ΔiH
o− Al 575

760kJmol− 1

10. Which of the following will have the most

negative electron gain enthalpy and which

https://dl.doubtnut.com/l/_Fgc8KWrlwEJ6
https://dl.doubtnut.com/l/_v8100fY0l9WO


have the least negative? . Explain

your answer.

Watch Video Solution

P , S, Cl, F

11. Fluorine is more electronegative than

chlorine. Is the statement true ?

Watch Video Solution

12. Using the perodic table, perdict the

formulas of compounds which might be

https://dl.doubtnut.com/l/_v8100fY0l9WO
https://dl.doubtnut.com/l/_VG2AIkXdRx2d
https://dl.doubtnut.com/l/_JM7uyL2ZLVTg


formed by the following pairs of elements : (a)

silicon and bromine (b) aluminium and

sulphur.

Watch Video Solution

13. Are the oxidation state and covalency of Al

in  same ?

Watch Video Solution

[AlCl(H2O)5]
2 +

https://dl.doubtnut.com/l/_JM7uyL2ZLVTg
https://dl.doubtnut.com/l/_uTfziV6VjdYe


14. Show by a chemical reaction with water

that  is a basic oxide and  is an

acidic oxide.

Watch Video Solution

Na2O Cl2O7

15. The elements eka aluminum and eka sillicon

named by Mendeleev known today as

Watch Video Solution

https://dl.doubtnut.com/l/_BoY85CU77V5p
https://dl.doubtnut.com/l/_BxbYq7NHD9ly


16. What would be the  name and

symbol for the element with atomic number

?

Watch Video Solution

IUPAC

120

17. How would you justify the presence of 18

elements in the  period of the Periodic

Table?

Watch Video Solution

5th

https://dl.doubtnut.com/l/_a88VaTU3jGEF
https://dl.doubtnut.com/l/_ngq44Dvj1EX5
https://dl.doubtnut.com/l/_3nk9O1o40Mxy


18. On moving across the period in the p-block

what is expected to the oxidizing power of the

elements ?

Watch Video Solution

19. The elements Z = 117 and 120 have not yet

been discovered. In which family / group

would you place these elements and also give

the electronic configuration in each case.

Watch Video Solution

https://dl.doubtnut.com/l/_3nk9O1o40Mxy
https://dl.doubtnut.com/l/_tqn1TBdlPaMA


20. Considering the atomic number and

position in the periodic table, arrange the

following elements in the increasing order of

metallic character : Si, Be, Mg, Na, P.

Watch Video Solution

21. Which of the following species will have the

largest and the smallest size

?

Watch Video Solution

Mg, Mg2 + , Al, Al3 +

https://dl.doubtnut.com/l/_xRn3ZUCp1cEX
https://dl.doubtnut.com/l/_caJGg8efXH03


22. Which among the following elements has

the largest atomic radii ?

Watch Video Solution

23. The first ionization enthalpy  values

of the third period elements, Na, Mg and Si are

respectively 496, 737 and . Predict

whether the first  value for Al will be

more close to 575 or 760  ? Justify

your answer.

(ΔiH)

786kJmol − 1

ΔiH

kJmol − 1

https://dl.doubtnut.com/l/_caJGg8efXH03
https://dl.doubtnut.com/l/_FmhpE09Peq6U
https://dl.doubtnut.com/l/_ckjhidloPCGa


Watch Video Solution

24. Which of the following will have the most

negative and the least negative electron gain

enthalpy ? P,S,Cl,F. Explain your answer.

Watch Video Solution

25. Fluorine is more electronegative than

chlorine. Is the statement true ?

Watch Video Solution

https://dl.doubtnut.com/l/_ckjhidloPCGa
https://dl.doubtnut.com/l/_4QmXugns0UYh
https://dl.doubtnut.com/l/_Yrc5iWqeq5WM


26. Using the periodic table, predict the

formulas of compounds which might be

formed by the following pairs of elements : 

(a) Silicon and bromine 

(b) Aluminium and sulphur

Watch Video Solution

27. Are the oxidation state and covalency of Al

in  same ?

Watch Video Solution

[AlCl(H2O)5]
2 +

https://dl.doubtnut.com/l/_Yrc5iWqeq5WM
https://dl.doubtnut.com/l/_LyK79JtrKFew
https://dl.doubtnut.com/l/_u58pk60x3VaA


Try Yourself

28. Show by chemical with water that  O is

a basic oxide and  is an acidic oxide.

Watch Video Solution

Na2

CI2O2

1. What were the 12 horizontal rows known in

the periodic table prepared by Mendeleev ?

Watch Video Solution

https://dl.doubtnut.com/l/_u58pk60x3VaA
https://dl.doubtnut.com/l/_EJNmbXN1cGre
https://dl.doubtnut.com/l/_tuVQj0KOdzRh


2. Name the German chemist who classified

the elements using the physical properties

such as melting point, boiling point, atomic

volume, etc.

Watch Video Solution

3. What would be the IUPAC name and symbol

of Bohrium with atomic number 107 ?

Watch Video Solution

https://dl.doubtnut.com/l/_tuVQj0KOdzRh
https://dl.doubtnut.com/l/_LtIbt2Aw3p8E
https://dl.doubtnut.com/l/_ZL0rxSkbIidJ


4. IUPAC symbol of atomic number 119.

Watch Video Solution

5. What is the position of lanthanide and

actinide series in the periodic table ?

Watch Video Solution

https://dl.doubtnut.com/l/_ZL0rxSkbIidJ
https://dl.doubtnut.com/l/_Qc6SANamAePt
https://dl.doubtnut.com/l/_ZJlExauL0JTG


6. How many elements can be there in the

third period ?

Watch Video Solution

7. Do the non-metallic character exhibited by

the halogens have any relation to ionization

enthalpy ?

Watch Video Solution

https://dl.doubtnut.com/l/_azKeCdjEa2iq
https://dl.doubtnut.com/l/_kbjt5AyYVbNv


8. Why s-block elements act as strong reducing

agents ?

Watch Video Solution

9. Find the position of element with atomic

number 35 in the periodic table

Watch Video Solution

10. What are transuranic elements ?

https://dl.doubtnut.com/l/_F96Zxc3Yafow
https://dl.doubtnut.com/l/_Ft3V1XLSnYbP
https://dl.doubtnut.com/l/_SOthXBmad6fY


Watch Video Solution

11. Out of the following elements which is the

most non-metallic ? 

Na, Mg and Al.

Watch Video Solution

12. Pick the metalloid among the following

given elements. 

P, S, Si, Al.

https://dl.doubtnut.com/l/_SOthXBmad6fY
https://dl.doubtnut.com/l/_LA431otph5Qn
https://dl.doubtnut.com/l/_55HAD5Ryj23Y


Watch Video Solution

13. Describe the trend of atomic size along a

period 

and a group in the periodic table.

Watch Video Solution

14. What will be the atomic radius of fluorine

atom of a covalently bonded fluorine molecule

with internuclear distance 128 pm ?

Watch Video Solution

https://dl.doubtnut.com/l/_55HAD5Ryj23Y
https://dl.doubtnut.com/l/_tmR40R306ay3
https://dl.doubtnut.com/l/_ImhDgpEHNnXA


15. The internuclear distance between adjacent

chlorine atoms of the two neighboring

molecules in the soild state is  pm. Thus,

the van der Waals radius of chlorine atom

is_______.

Watch Video Solution

360

16. Arrange the following elements in the

order of increasing atomic radius N, O, F and

https://dl.doubtnut.com/l/_ImhDgpEHNnXA
https://dl.doubtnut.com/l/_m3NRTHipQ6FL
https://dl.doubtnut.com/l/_RSO073xwUL9F


Ne.

Watch Video Solution

17. For which element the second ionization

enthalpy is expected to be greater, N or O ?

Watch Video Solution

18. What is the expected order of ionization

enthalpy for the given elements Li, Na, K and

Rb ?

https://dl.doubtnut.com/l/_RSO073xwUL9F
https://dl.doubtnut.com/l/_ge5Dk3kUfayM
https://dl.doubtnut.com/l/_D5golsYCkZAl


Watch Video Solution

19. Which among the following elements will

have a positive electron gain enthalpy ? B, C, N,

O.

Watch Video Solution

20. S has more negative electron gain enthalpy

than O why ?

Watch Video Solution

https://dl.doubtnut.com/l/_D5golsYCkZAl
https://dl.doubtnut.com/l/_3N9KkjTfFcrL
https://dl.doubtnut.com/l/_XpRaM934b0jh


21. Is the electronegativity of an atom is

constant ?

Watch Video Solution

22. If out of two given elements A and B, A has

a higher ionization energy than B, which

element is expected to be more

electronegative A or B ?

Watch Video Solution

https://dl.doubtnut.com/l/_XpRaM934b0jh
https://dl.doubtnut.com/l/_KhTaWWSqhfv1
https://dl.doubtnut.com/l/_EFtc7FcM1xfT


23. What would be the formula of the

compound formed by A and B, where A has the

valence 3 and B has the valence 3 ?

Watch Video Solution

24. An element M combines with a halogen Cl.

What would be the formula of the compound

obtained if M has a valence of 2 ?

Watch Video Solution

https://dl.doubtnut.com/l/_FPjhEFLn6ylJ
https://dl.doubtnut.com/l/_I91j08UeNGJw
https://dl.doubtnut.com/l/_DOwlPr5QOeZZ


25. What is the covalency of B in 

and its oxidation state ?

Watch Video Solution

[B(OH)4]

26. What happens to the oxidation state of the

elements of the second moving from left to

right with respect to their oxides ?

Watch Video Solution

https://dl.doubtnut.com/l/_DOwlPr5QOeZZ
https://dl.doubtnut.com/l/_tM6YhLWSxv4O


27. What is the nature of  ?

(Acidic/Basic)

Watch Video Solution

Al2O3

28. Show that the nature of  is acidic.

Watch Video Solution

SO3

29. What would be the IUPAC name and symbol

of Bohrium with atomic number 107 ?

https://dl.doubtnut.com/l/_CDDCWRUbtod3
https://dl.doubtnut.com/l/_P6Fvgtej0bpN
https://dl.doubtnut.com/l/_6dt0X2mlGwpC


Watch Video Solution

30. What would be the IUPAC name of element

with atomic number 119 ?

Watch Video Solution

31. What is the position of lanthanide and

actinide series in the periodic table ?

Watch Video Solution

https://dl.doubtnut.com/l/_6dt0X2mlGwpC
https://dl.doubtnut.com/l/_f1bc5ABhhslP
https://dl.doubtnut.com/l/_63nZSyARmNVz
https://dl.doubtnut.com/l/_PINnVlsdQCaC


32. How many elements can be there in the

third period ?

Watch Video Solution

33. Do the non-metallic character exhibited by

the halogens have any relation to ionization

enthalpy ?

Watch Video Solution

https://dl.doubtnut.com/l/_PINnVlsdQCaC
https://dl.doubtnut.com/l/_jO21rQNVbpE8


34. Why s-block elements act as strong

reducing agents ?

Watch Video Solution

35. Find the position of element with atomic

number 35 in the periodic table

Watch Video Solution

36. What are transuranic elements ?

https://dl.doubtnut.com/l/_6qbmimfEK0u0
https://dl.doubtnut.com/l/_00dmesFqlZEF
https://dl.doubtnut.com/l/_mfCCHqZwNsId


Watch Video Solution

37. Out of the following elements which is the

most non-metallic ? 

Na, Mg and Al.

Watch Video Solution

38. Pick the metalloid among the following

given elements. 

P, S, Si, Al.

https://dl.doubtnut.com/l/_mfCCHqZwNsId
https://dl.doubtnut.com/l/_B7X223w5h949
https://dl.doubtnut.com/l/_4ACePVrwCzMZ


Watch Video Solution

39. What is the trend down the group in the

periodic table of atomic size ?

Watch Video Solution

40. What will be the atomic radius of fluorine

atom of a covalently bonded fluorine molecule

with internuclear distance 128 pm ?

Watch Video Solution

https://dl.doubtnut.com/l/_4ACePVrwCzMZ
https://dl.doubtnut.com/l/_us7kRA2MrmaM
https://dl.doubtnut.com/l/_xEu5MPfKQ3yj


41. The internuclear distance between two

adjacent atoms of Ne is 360 pm . What will be

its van der Waals radius ?

Watch Video Solution

42. Arrange the following elements in the

order of increasing atomic radius N, O, F and

Ne.

Watch Video Solution

https://dl.doubtnut.com/l/_ZT2GLTQRhnX3
https://dl.doubtnut.com/l/_D4tCaEOVMGbb
https://dl.doubtnut.com/l/_pvN7nrxUEenM


43. For which element the second ionization

enthalpy is expected to be greater, N or O ?

Watch Video Solution

44. What is the expected order of ionization

enthalpy for the given elements Li, Na, K and

Rb ?

Watch Video Solution

https://dl.doubtnut.com/l/_pvN7nrxUEenM
https://dl.doubtnut.com/l/_3xZKhLrA9em2


45. Which among the following elements will

have a positive electron gain enthalpy ? B, C, N,

O.

Watch Video Solution

46. S has more negative electron gain enthalpy

than O why ?

Watch Video Solution

https://dl.doubtnut.com/l/_FGw47hRW1NZU
https://dl.doubtnut.com/l/_GwrizGIlQHqW


47. Is the electronegativity of an atom is

constant ?

Watch Video Solution

48. If out of two given elements A and B, A has

a higher ionization energy than B, which

element is expected to be more

electronegative A or B ?

Watch Video Solution

https://dl.doubtnut.com/l/_vdM1H3TMQiQT
https://dl.doubtnut.com/l/_L1HE4En9a3k3
https://dl.doubtnut.com/l/_9OYAat8jjXB7


49. What would be the formula of the

compound formed by A and B, where A has the

valence 3 and B has the valence 3 ?

Watch Video Solution

50. An element M combines with a halogen Cl.

What would be the formula of the compound

obtained if M has a valence of 2 ?

Watch Video Solution

https://dl.doubtnut.com/l/_9OYAat8jjXB7
https://dl.doubtnut.com/l/_xwiN273yy0Hl
https://dl.doubtnut.com/l/_uz0HBAUNeQ6F


51. What is the covalency of B in 

and its oxidation state ?

Watch Video Solution

[B(OH)4]

52. What happens to the oxidation state of the

elements of the second moving from left to

right with respect to their oxides ?

Watch Video Solution

https://dl.doubtnut.com/l/_uz0HBAUNeQ6F
https://dl.doubtnut.com/l/_KIcLTZsQdubC


Assignment Section A

53. What is the nature of  ?

(Acidic/Basic)

Watch Video Solution

Al2O3

54. Show that the nature of  is acidic.

Watch Video Solution

SO3

https://dl.doubtnut.com/l/_XNaW5Ix0EGK4
https://dl.doubtnut.com/l/_8MAzEnUwC25j


1. On moving from left to right across a period

in the periodic table the metallic character

A. Decreases

B. Increases

C. Remains constat

D. First increases and then decreases

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_0bCLQVGpSZAY
https://dl.doubtnut.com/l/_UWhBRwsxlzZg


2. An element with atomic number 20 will be

placed in which period of the periodic table

A. 2

B. 4

C. 3

D. 1

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_UWhBRwsxlzZg


3. The electronic structure

 is characteristic of

A. Lanthanides

B. Actinides

C. Rare gases

D. Transition elements

Answer: D

Watch Video Solution

(n − 1)d1 − 10ns0 − 2

https://dl.doubtnut.com/l/_RpsC8GT61cG5
https://dl.doubtnut.com/l/_9iqLtQWPB8Vr


4. IUPAC name of element of atomic number

114 is

A. 1. Ununtetradium

B. 2. Ununquadium

C. 3. Unnilquadium

D. 4. Unniltetradium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9iqLtQWPB8Vr


5. An element has electronic configuration

. Predict its group, period and

block

A. Group=16, period= , block-s

B. Group =16, period , block-p

C. Group=10, period , block-p

D. Group=12, period , block-d

Answer: B

Watch Video Solution

1s22s22p63s23p4

3rd

= 3rd

= 2nd

= 4th

https://dl.doubtnut.com/l/_SbPEAP7Cng5s


6. Which of the following pairs has both

members from the same group of the periodic

table ?

A. Mg-K

B. Mg-Na

C. Na-Ba

D. Mg-Ca

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xdAbO6J2i5N7


7. An element with atomic number 29 belongs

to

A. 1. s-block

B. 2. p-block

C. 3. d-block

D. 4. f-block

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_km0YMBMaIICZ
https://dl.doubtnut.com/l/_eGjabItx2bOA


8. In the periodic table from left to right in a

period, the atomic volume

A. Increases

B. Decreases

C. Remains constant

D. First increases and then decreases

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_eGjabItx2bOA


9. Which of the following electronic structure

represents a metallic element ?

A. Option 1. 2,8,7

B. Option 2. 2,8,8

C. Option 3. 2,8,4

D. Option 4. 2,8,1

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_uwo0drnCCZ9a
https://dl.doubtnut.com/l/_P1o7ONMA2spq


10. The sceening effect of d-electrons is

A. Equal to that of p-electrons

B. More than that of p-electrons

C. Same as f-electrons

D. Less than p-electrons

Answer: D

Watch Video Solution

11. Correct order of radii

https://dl.doubtnut.com/l/_P1o7ONMA2spq
https://dl.doubtnut.com/l/_HVIRETMJ9x8r


A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

Na > Mg > Al

Na+ > Mg2 + > Al3 +

I + < l < l−

12. Which pair of elements shows positive

elecron gain enthalpy ?

https://dl.doubtnut.com/l/_HVIRETMJ9x8r
https://dl.doubtnut.com/l/_C5aaJ0WJC3oV


A. He, N, O

B. Ne, N, Cl

C. O, Cl, F

D. N, He, Ne

Answer: D

Watch Video Solution

13. The elements of same group of the periodic

table have

https://dl.doubtnut.com/l/_C5aaJ0WJC3oV
https://dl.doubtnut.com/l/_cmOxrREUXxpY


A. 1. Atomic number

B. 2. Electronic configuration

C. 3. Atomic weight

D. 4. Number of electrons in the valence

shell

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cmOxrREUXxpY


14. Which pair of elements has same chemical

properties ?

A. Z=13, Z=22

B. Z=3, Z=11

C. Z=4, Z=24

D. Z=2, Z=4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nyvUPy3xelTn
https://dl.doubtnut.com/l/_NcS00AtBFgTD


15. Write the atomic number of the element

present in the third period and seventeenth

group of the periodic table.

A. 15

B. 16

C. 9

D. 17

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NcS00AtBFgTD
https://dl.doubtnut.com/l/_RifZnUYif2au


16. Chalcogens are elements of the group

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

17th

15th

16th

14th

https://dl.doubtnut.com/l/_RifZnUYif2au


17. Which of the following shows diagonal

relationship ?

A. Boron and silicon

B. Boron and aluminium

C. Boron and gallium

D. Boron and carbon

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GdG4LSESZM5e
https://dl.doubtnut.com/l/_Qxb6kObWVUQr


18. What are representative elements?

A. s-block

B. s-block and p-block

C. d-block or transition elements

D. d-block and f-block

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Qxb6kObWVUQr


19. Which group of elements represents a

collection of isoelectronic species ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al3 + , Si4 − , S2 −

Ca2 + , Sc3 + , Cl+

N 3 − , F − , O−

Ca2 + , Cl− , Sc3 +

https://dl.doubtnut.com/l/_6EOFOokgl2FC
https://dl.doubtnut.com/l/_WZRl5ESc2EBD


20. Which of the following electronic

configuration represents the most metallic

element ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[He]2s1

[Ne]3s1

[Ar]4s1

[Kr]5s1

https://dl.doubtnut.com/l/_WZRl5ESc2EBD
https://dl.doubtnut.com/l/_ERE76tOXCxxU


21. The group of elements in which the last

electron is present the anti-penultimate shell

of atom called

A. f-block elements

B. d-block elements

C. p-block elements

D. s-block elements

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ERE76tOXCxxU


22. Which general electronic configuration of

the element does not represent a non-metal ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2, np4

ns2, (n − 1)d1 − 10, np5

ns1 − 2, (n − 1)d1 − 10

ns2, (n − 1)d1 − 10, np1 − 6

https://dl.doubtnut.com/l/_U8PgTvkxgI0I
https://dl.doubtnut.com/l/_hVQbzAi7t0he


23. Find the incorrect statement.

A. Valence electron and valency is same for

group 1

B. p-block elements are metals, nonmetals

and metalloids

C. Noble gases has 8 valence electrons

except He but valency zero

D. Smallest atom of periodic table is He

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hVQbzAi7t0he


24. The effective nuclear charge across the

period (from left to right)

A. 1. Increases

B. 2. Decreases

C. 3. First increases and then decreases

D. 4. First decreases and then increases

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hVQbzAi7t0he
https://dl.doubtnut.com/l/_GNOfJVLXUgSx


25. Which electronic configuration of an

element has abnormally high difference

between second and third ionization

enthalpies ?

A. 

B. 

C. 

D. 

Answer: D

1s22s22p63s1

1s22s22p63s23p1

1s22s22p6, 3s23p2

1s22s22p63s2

https://dl.doubtnut.com/l/_GNOfJVLXUgSx
https://dl.doubtnut.com/l/_FERKnxzyUHwc


Watch Video Solution

26. Which of the following has the highest

negative electron gain entahlpy ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F −

O−

Na+

Mg2 +

https://dl.doubtnut.com/l/_FERKnxzyUHwc
https://dl.doubtnut.com/l/_UujCH4YF4XGe


27. The outermost electronic configuration of

the most electronegative element is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2s22p3

2s22p4

2s22p5

3s23p5

https://dl.doubtnut.com/l/_UujCH4YF4XGe
https://dl.doubtnut.com/l/_mMtcujlIBDTm


28. Match the elements given in column (I)

with the most appropriate expected values

given in column (II) 

A. A(r ), B(p),C(q),D(s)

B. A(s),B(q),C(r ),D(p)

C. A(p),B(q),C(r ),D(s)

Column I Column II

Element Electronegative values

A. F (p)3.5

B. O (q)3.0

C. N (r)4.0

D. C (s)2.5

https://dl.doubtnut.com/l/_mMtcujlIBDTm
https://dl.doubtnut.com/l/_Vs4JY6svesOc


D. A(r ),B(q), C(p),D(s)

Answer: A

Watch Video Solution

29. Electronegativity of the elements O,F,S and

Cl increases in the order

A. S,Cl,O,F

B. Cl,S,O,F

C. S,Cl,F,O

https://dl.doubtnut.com/l/_Vs4JY6svesOc
https://dl.doubtnut.com/l/_xV1cOluFmo2m


D. Cl,S,F,O

Answer: A

Watch Video Solution

30. Valence electrons in the atom of element A

is 4 and in the element B is 2. Most probable

compound formed from A and B is

A. 

B. 

A2B3

AB2

https://dl.doubtnut.com/l/_xV1cOluFmo2m
https://dl.doubtnut.com/l/_Uf4vLCWny612


C. 

D. 

Answer: C

Watch Video Solution

AB2

A2B

31. Which orbital diagram gives an insight

ionization energy ?

A. 

B. 

https://dl.doubtnut.com/l/_Uf4vLCWny612
https://dl.doubtnut.com/l/_FoJRzK5mvCoM


C. 

D. 

Answer: C

Watch Video Solution

32. The largest atomic radius will be of

A. Be

B. Na

C. F

https://dl.doubtnut.com/l/_FoJRzK5mvCoM
https://dl.doubtnut.com/l/_1FWh7FNoBetZ


D. Mg

Answer: B

Watch Video Solution

33. The order of increasing atomic radii is

A. 

B. 

C. 

D. 

Ne < F < O < N

F > N > O > Ne

N < O < F < Ne

F < O < N < Ne

https://dl.doubtnut.com/l/_1FWh7FNoBetZ
https://dl.doubtnut.com/l/_NDv9rkYGr07i


Answer: D

Watch Video Solution

34. Highest amount of energy will be required

for the removal of electron from

A. 1.s-subshell

B. 2. p-subshell

C. 3. d-subshell

D. 4. f-subshell

https://dl.doubtnut.com/l/_NDv9rkYGr07i
https://dl.doubtnut.com/l/_L3xcDAmDWVlk


Answer: A

Watch Video Solution

35. Arrangement of atoms according to their

increasing ionization energy is clearly

represented by the given option.

A. 

B. 

C. 

D. 

C < N < O < F

C < O < N < F

N < C < O < F

C < O < F < N

https://dl.doubtnut.com/l/_L3xcDAmDWVlk
https://dl.doubtnut.com/l/_DYiB39Hz0D4r


Answer: B

Watch Video Solution

36. Pick the incorrect statement about the

factors affecting ionization energy

A. Half filled or full filled atomic orbitals

have high ionization energy

B. More is the shielding of valence

electrons more is the ionization energy

https://dl.doubtnut.com/l/_DYiB39Hz0D4r
https://dl.doubtnut.com/l/_JgjNS7jWtMja


C. Larger is the atomic radii lower is

ionization energy

D. lonization enthalpy  effective nuclear

charge

Answer: B

Watch Video Solution

∝

37. What will be the correct order of size for

the given elements ?

https://dl.doubtnut.com/l/_JgjNS7jWtMja
https://dl.doubtnut.com/l/_UtXwbeP5gwbz


A. Option 1. 

B. Option 2. 

C. Option 3. 

D. Option 4. 

Answer: C

Watch Video Solution

Na < Cl < F

Na < F < Cl

F < Cl < Na

Cl < F < Na

38. In which element the electrons will be

experiencing the highest effective nuclear

charge ? The elements are Be, B, C, N & O.

https://dl.doubtnut.com/l/_UtXwbeP5gwbz
https://dl.doubtnut.com/l/_WUcemnT8bVj1


A. O

B. Be

C. 

D. N= O

Answer: A

Watch Video Solution

Be ≈ B

39. Which of the following is not a

representative element ?

https://dl.doubtnut.com/l/_WUcemnT8bVj1
https://dl.doubtnut.com/l/_keB3bR6md0dr


A. Z=37

B. Z=31

C. Z=54

D. Z=24

Answer: D

Watch Video Solution

40. Correct order of 1st ionisationpotential (IP)

among following elements Be, B, C, N, O is

https://dl.doubtnut.com/l/_keB3bR6md0dr
https://dl.doubtnut.com/l/_HndH0e2Kn9Be


Assignment Section B

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B < Be < C < O < N

B < Be < C < N < O

Be < C < B < N < O

Be < B < C < O < N

https://dl.doubtnut.com/l/_HndH0e2Kn9Be


1. In Lother Meyer's curve, the element on the

peak of curve will be

A. F

B. Na

C. Mg

D. Ne

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LFx8ERcUqorx
https://dl.doubtnut.com/l/_HWBP82M0NV1U


2. According to Mendeleev's periodic law

physical and chemical properties are function

of

A. Option 1. Atomic number

B. Option 2. Atomic weight

C. Option 3. Atomic volume

D. Option 4. Number of neutrons

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HWBP82M0NV1U
https://dl.doubtnut.com/l/_lVhqk3WUUoYu


3. With which block  belongs ?

A. Option 1. s

B. Option 2. p

C. Option 3. d

D. Option 4. f

Answer: C

Watch Video Solution

30Zn

https://dl.doubtnut.com/l/_lVhqk3WUUoYu


4. Out of following which has the highest

electronegativity ?

A. H

B. Li

C. Na

D. Be

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_E6Q4ChP6iJS9
https://dl.doubtnut.com/l/_vOjHNPl8ULsZ


5. Which of the following has largest size ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H −

He

Li+

Be+ 2

https://dl.doubtnut.com/l/_vOjHNPl8ULsZ


6. Which of the following orbitals has higher

screening power ?

A. 4s

B. 4p

C. 4d

D. 4f

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5QMRbm134NnF
https://dl.doubtnut.com/l/_WHh3LmtaGVq0


7. The element which belongs with chalcogen

family is

A. N

B. P

C. S

D. Cl

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WHh3LmtaGVq0


8. The element which has highest 2nd

ionisation energy is

A. Na

B. Mg

C. Ca

D. Ar

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_0tUWinvQbxCL
https://dl.doubtnut.com/l/_3o2SCQm7hOl4


9. An atom with high electronegativity

generally has :-

A. Low electron affinity

B. Small atomic number

C. Large atomic radius

D. High ionisation potential

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3o2SCQm7hOl4


10. Ionic radii are

A. Greater than the respective atomic radii

of elements in general

B. Greater than the respective atomic radii

of electropositive elements

C. Greater than the respective atomic radii

of electronegative elements

D. Less than the respective atomic radii of

electronegative elements

https://dl.doubtnut.com/l/_B8fbKgocmfBi


Answer: C

Watch Video Solution

11. The first ionization enthalpies of Na,Mg,Al

and Si are in the order

A. 

B. 

C. 

D. 

Na < Mg > Al < Si

Na < Mg < Al > Si

Na > Mg > Al > Si

Na > Mg > Al < Si

https://dl.doubtnut.com/l/_B8fbKgocmfBi
https://dl.doubtnut.com/l/_H4wZtKBTpadn


Answer: A

Watch Video Solution

12. Which of the following has maximum

number of unpaired electrons ?

A. 

B. 

C. 

D. 

Mg2 +

B3 +

V 3 +

Fe2 +

https://dl.doubtnut.com/l/_H4wZtKBTpadn
https://dl.doubtnut.com/l/_43WQVIbDYT2V


Answer: D

Watch Video Solution

13. Which of the following elements do not

belong to the family indicated ?

A. Cu- Coinage metal

B. Ba- Alkaline earth metal

C. Zn- Alkaline earth metal

D. Xe- Noble gas

https://dl.doubtnut.com/l/_43WQVIbDYT2V
https://dl.doubtnut.com/l/_bZJDQJR4cIQD


Answer: C

Watch Video Solution

14. If the atomic number of an element is 33, it

will be placed in the periodic table in the

A. 1st group

B. 3rd group

C. 15th group

D. 17th group

https://dl.doubtnut.com/l/_bZJDQJR4cIQD
https://dl.doubtnut.com/l/_lLuP10h8lNYh


Answer: C

Watch Video Solution

15. Which among the following elements has

the highest value for third ionisation energy ?

A. Mg

B. Al

C. Na

D. Ar

https://dl.doubtnut.com/l/_lLuP10h8lNYh
https://dl.doubtnut.com/l/_Hg62aHw0wFwd


Answer: A

Watch Video Solution

16. The screening effect of inner electrons of

an atom can cause

A. A decrease in the ionisation energy

B. An increase in the jonisation energy

C. No effect on the ionisation potential

https://dl.doubtnut.com/l/_Hg62aHw0wFwd
https://dl.doubtnut.com/l/_aJRRBidy7e8Y


D. An increase in the attraction of the

nucleus on the outermost electrons

Answer: A

Watch Video Solution

17. The diagonal similarities are due to similar

polarising powers for the elements. 

The polarising power is defined as

A. 
ionic charge

ionic radius

https://dl.doubtnut.com/l/_aJRRBidy7e8Y
https://dl.doubtnut.com/l/_FYrrVCwmyHPN


B. 

C. 

D. 

Answer: C

Watch Video Solution

(ionic charge)
2

ionic radius

ionic charge

(ionic radius)
2

ionic charge

(ionic radius)1 / 2

18. Which of the following gradation in the

properties is false, as we move from Left to

right in the periodic table ?

https://dl.doubtnut.com/l/_FYrrVCwmyHPN
https://dl.doubtnut.com/l/_g13Df6LJHEq5


A. Metallic to non-metallic character

B. Oxidising to reducing properties

C. Metallic solids through network solids to

molecular solids

D. Base forming to acid forming character

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_g13Df6LJHEq5


19. The increasing order of electron affinity

values of  and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O, S Se

O > S > Se

S > Se > O

Se > O > S

Se > S > O

https://dl.doubtnut.com/l/_lFd5ozsezchH
https://dl.doubtnut.com/l/_8w2PyyuVxfeG


20. The element which has highest  I.E. ?

A. Li

B. Be

C. K

D. B

Answer: A

Watch Video Solution

IInd

https://dl.doubtnut.com/l/_8w2PyyuVxfeG


21. The element which has highest electron

affinity ?

A. Oxygen

B. Sulphur

C. Nitrogen

D. Phosphorus

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DBRswUHe5uKV
https://dl.doubtnut.com/l/_ieReLHtgvUsH


22. Electronegativity of an element is 1.0 on

the Pauling scale. Its value of Mulliken scale

will be

A. Option1. 2.8

B. Option 2. 1

C. Option 3. 

D. Option 4. 1.5

Answer: A

Watch Video Solution

2.0

https://dl.doubtnut.com/l/_ieReLHtgvUsH
https://dl.doubtnut.com/l/_w475cbpog2Hb


23. Which of the following element has

highest shielding constant ?

A. Mg

B. Al

C. K

D. Ga

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_w475cbpog2Hb


24. Which one of the following order is correct

?

A.  (radii)

B.  (radii)

C.  (lonisation energy)

D.  (lonisation energy)

Answer: B

Watch Video Solution

I > I + > I −

I − > I > I +

I − > I > I +

I + 5 < I + < I + 7

https://dl.doubtnut.com/l/_AH5wWPXPtZnr
https://dl.doubtnut.com/l/_ECyNNRV6tg8F


25. Which one of the following oxides has

highest acidic character ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CO2

Cl2O7

SiO2

SO2

https://dl.doubtnut.com/l/_ECyNNRV6tg8F


26. Electron gain enthalpy will be positive in

A.  is formed from 

B.  is formed from O

C.  is formed from S

D.  is formed from Na

Answer: A

Watch Video Solution

O− 2 O− 1

O− 1

S − 1

Na−

https://dl.doubtnut.com/l/_iZFGYWRZm6jP


27. Enthalpy change in the following process is

 


Which of the following processes has enthalpy

change=X kJ/mole ?

A. Option 1. 

B. Option 2. 

C. Option 3. 

D. Option 4. 

Answer: C

Watch Video Solution

A + e− → A− ΔH = − XkJ /mole

A− 2 → A− + 1e−

A + e− → A−

A− → A + e−

A+ + e− → A

https://dl.doubtnut.com/l/_bM5giyT8nCld


Watch Video Solution

28. Uub is the symbol for the element with

atomic number-

A. Option 1. 102

B. Option 2. 108

C. Option 3. 110

D. Option 4. 112

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bM5giyT8nCld
https://dl.doubtnut.com/l/_acbnKybk6pFH


29. An element has electronic configuration

[Xe] . It belongs to ____ block of

this periodic table.

A. Option 1. s

B. Option 2. p

C. Option 3. d

D. Option 4. f

Answer: D

Watch Video Solution

4f 7, 5d1, 6s2

https://dl.doubtnut.com/l/_acbnKybk6pFH
https://dl.doubtnut.com/l/_QpRM4BGOkvI9


30. A sudden large jump between the value of

second and third ionization energies of an

el,ement would be associated with which of

the following electronic configuration?

A. 

B. 

C. 

D. 

Answer: D

1s2, 2s2p6, 3s1

1s2, 2s2p6, 3s2p1

1s2, 2s2p6, 3s2p2

1s2, 2s2p6, 3s2

https://dl.doubtnut.com/l/_QpRM4BGOkvI9
https://dl.doubtnut.com/l/_53dRi2xOsJfv


Watch Video Solution

31. An element has 56 nucleons in nucleus and

if it is isotonic with . Which group and

period does it belong to ?

A.  group,  period

B.  group,  period

C.  group,  period

D.  group,  period

Answer: A

30Y
60

8th 4th

14th 3rd

12th 3rd

12th 4th

https://dl.doubtnut.com/l/_53dRi2xOsJfv
https://dl.doubtnut.com/l/_ng4nV8D9qcQU


Watch Video Solution

32. Which of the following processes will

release energy equal to ionziation energy ?

A. Option 1. 

B. Option 2. 

C. Option 3. 

D. Option 4. 

Answer: C

M ( g )

+e−

−−→ M
( − )

( g )

M ( s )

−e
−−→ M +

( s )

M +
( g )

+e−

−−→ M ( g )

M ( g )

−e−

−−→ M
( − )

( g )

https://dl.doubtnut.com/l/_ng4nV8D9qcQU
https://dl.doubtnut.com/l/_l0zrtFHLFnij


Watch Video Solution

33. The chemistry of Be is very similar to that

of aluminium, because

A. They belong to same group

B. They belong to same period

C. Both have nearly the same ionic size

D. The ratio of their charge to size is nearly

the same

Answer: D

https://dl.doubtnut.com/l/_l0zrtFHLFnij
https://dl.doubtnut.com/l/_nby3PpHBOByr


Watch Video Solution

34. The ionisation energy of Li is 500 KJ/mole.

The amount of energy required to convert 70

mg of Li atoms in gaseous state into  ion

(in KJ) is

A. 5.0 kJ

B. 52 kJ

C. 520 kJ

D. 52 J

Li+

https://dl.doubtnut.com/l/_nby3PpHBOByr
https://dl.doubtnut.com/l/_P7jOzBaxFwpv


Assignment Section C

Answer: A

Watch Video Solution

1. Choose the correct pair regarding ionisation

energy 

A. 

B. 

C. 

(IE1)

B > Be

Tl > Ga

N > O

https://dl.doubtnut.com/l/_P7jOzBaxFwpv
https://dl.doubtnut.com/l/_cbjbTDTjgADy


D. 

Answer: B::C::D

Watch Video Solution

Li > Na

2. The element which belong with p-block

is/are

A. Fe

B. Ga

C. Na

https://dl.doubtnut.com/l/_cbjbTDTjgADy
https://dl.doubtnut.com/l/_3z3aMlcbAHv5


D. I

Answer: B::D

Watch Video Solution

3. Choose the correct statement/statements

regarding Modern periodic table

A. Actinoids are placed in main body of

periodic table

https://dl.doubtnut.com/l/_3z3aMlcbAHv5
https://dl.doubtnut.com/l/_6R7h1Q6VpETX


B. Chemical properties are periodic

function of atomic number

C. In periodic table, 18 group are present

D. 7th period is incomplete

Answer: B::C::D

Watch Video Solution

4. Which of the following is/are correct pair

regarding size ?

https://dl.doubtnut.com/l/_6R7h1Q6VpETX
https://dl.doubtnut.com/l/_BE57QLvTYwyR


A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

Zn > Cu

N > O

Al > Ca

B > C

5. Choose the correct option(s)

https://dl.doubtnut.com/l/_BE57QLvTYwyR
https://dl.doubtnut.com/l/_4ZmUpYqiGTLy


A. Oxygen has highest electron gain

enthalpy among chalcogens

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_4ZmUpYqiGTLy


6. Choose the process which is/are

endothermic ?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

O− 1 + e− → O− 2

Ar → A+
r + e−

Ar + e− → Ar−

H + e− → H −

https://dl.doubtnut.com/l/_pYWcS4wQk8vy
https://dl.doubtnut.com/l/_oVx9ZAvj4wBt


7. Which of the following is/are correct order

regarding radius ?

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Be+ 2 < B+ 3 < Li+

B+ 3 < Be+ 2 < Li+

F − < O− 2 < N − 3

B+ 3 < Ga+ 3 < Al+ 3

https://dl.doubtnut.com/l/_oVx9ZAvj4wBt


8. Which of the following pairs contain

metalloids ?

A. Ga, Ge

B. As, Te

C. I, Sb

D. In, Tl

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_TNwhIeEkxqDf
https://dl.doubtnut.com/l/_Uk6aATiSsnJ5


9. Choose the correct statement(s).

A.  element is a noble gas

B.  element belongs to s block

C.  element belongs to f block

D.  element belongs to f

block

Answer: A::D

Watch Video Solution

[Ar]3d104s24p6

[Ar]3d54s1

1s2

[Xe]4f 15d16s2

https://dl.doubtnut.com/l/_Uk6aATiSsnJ5


10. Which of the following is/are correct order

in accordance of electropositive nature of

metal ?

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Fe < Mg < Cu

Na > Mg > Al

Mg < Ca < Sr

Fe > Cu > Zn

https://dl.doubtnut.com/l/_fRb6sOIjuHwz


11. Choose the pair in which  of first

element is greater than  of second

element but in case of  order is/are

reversed

A. N, O

B. P,S

C. Be,B

D. F,O

Answer: A::B::C::D

Watch Video Solution

IE1

IE1

IE2

https://dl.doubtnut.com/l/_lDkQfscCCKnB


12. Which of the following sequence

represents atomic number of only

representative elements?

A. 55,12,48,53

B. 13,33,54,83

C. 3,33,53,87

D. 22,33,55,66

Answer: B::C

https://dl.doubtnut.com/l/_lDkQfscCCKnB
https://dl.doubtnut.com/l/_TdwT1dRei11O


Assignment Section D Linked Compreshension

Type Questions

Watch Video Solution

1. Ionisation energy is the amount of energy

required to remove the outermost  from a

gaseous atom. It's unit is kJ/mole or kcal/mole. 

Successive ionisation energy - It is the amount

of energy required to remove electron

successively from a gaseous ion. These are

termed as  etc. the difference in

e−

IE2, IE3, IE4

https://dl.doubtnut.com/l/_TdwT1dRei11O
https://dl.doubtnut.com/l/_4qHGtD5G7cQF


the values of  helps to

determine electronic configuration of the

element. 

 


Which element is a noble gas ?

A. A

B. B

C. C

D. D

IE1, IE2  and IE3

https://dl.doubtnut.com/l/_4qHGtD5G7cQF


Answer: B

Watch Video Solution

2. Ionisation energy is the amount of energy

required to remove the outermost  from a

gaseous atom. It's unit is kJ/mole or kcal/mole. 

Successive ionisation energy - It is the amount

of energy required to remove electron

successively from a gaseous ion. These are

termed as  etc. the difference in

the values of  helps to

e−

IE2, IE3, IE4

IE1, IE2  and IE3

https://dl.doubtnut.com/l/_4qHGtD5G7cQF
https://dl.doubtnut.com/l/_eTCEvOKpABam


determine electronic configuration of the

element. 

 


Which of the following is a non-metal ?

A. A

B. B

C. C

D. D

Answer: C::D

https://dl.doubtnut.com/l/_eTCEvOKpABam


Watch Video Solution

3. Ionisation energy is the amount of energy

required to remove the outermost  from a

gaseous atom. It's unit is kJ/mole or kcal/mole. 

Successive ionisation energy - It is the amount

of energy required to remove electron

successively from a gaseous ion. These are

termed as  etc. the difference in

the values of  helps to

determine electronic configuration of the

element. 

e−

IE2, IE3, IE4

IE1, IE2  and IE3

https://dl.doubtnut.com/l/_eTCEvOKpABam
https://dl.doubtnut.com/l/_GKlWTpO0suwN


 


Which element is a noble gas ?

A. A

B. B

C. C

D. D

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GKlWTpO0suwN


4. Mulliken defined the electronegativity of an

atom as the arithmetic mean of its ionisation

energy and electron affinity. 

 


One more relationship given by him, if the

values are given in eV is 

When there is pure covalent bond between A-

B 

 


 


XA = (I. P . + E. A. )
1

2

XA =
Ionisation potential+Electron affinity

5.6

=
(IP )

A
+ (EA)

A

5.6

(IP )
B

+ (EA)
B

5.6

⇒ XA = XB

https://dl.doubtnut.com/l/_Zuxyi0BknWbG


According to Mulliken, electronegativity

depends on

A. Ionisation potential

B. Electron gain enthalpy

C. Electron affinity

D. Both (1) & (3)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Zuxyi0BknWbG


5. Mulliken defined the electronegativity of an

atom as the arithmetic mean of its ionisation

energy and electron affinity. 

 


One more relationship given by him, if the

values are given in eV is 

When there is pure covalent bond between A-

B 

 


 


XA = (I. P . + E. A. )
1

2

XA =
Ionisation potential+Electron affinity

5.6

=
(IP )

A
+ (EA)

A

5.6

(IP )
B

+ (EA)
B

5.6

⇒ XA = XB

https://dl.doubtnut.com/l/_Kiqjk9MxpFMJ


When there is formation of  bond

then condition will be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

δ−

A −
δ+

B

>
(IP )A + (EA)A

5.6

(IP )B + (EA)B
5.6

>
(IP )A + (EA)B

5.6

(IP )A + (EA)B
5.6

=
(IP )A + (EA)B

2.8

(IP )A + (EA)B
2.8

>
(IP )A + (EA)B

5.6

(IP )A + (EA)A
5.6

https://dl.doubtnut.com/l/_Kiqjk9MxpFMJ


6. Mulliken defined the electronegativity of an

atom as the arithmetic mean of its ionisation

energy and electron affinity. 

 


One more relationship given by him, if the

values are given in eV is 

When there is pure covalent bond between A-

B 

 


 


Pauling's Electronegativity scale is based on

XA = (I. P . + E. A. )
1

2

XA =
Ionisation potential+Electron affinity

5.6

=
(IP )

A
+ (EA)

A

5.6

(IP )
B

+ (EA)
B

5.6

⇒ XA = XB

https://dl.doubtnut.com/l/_Y79nvD9TfphK


Assignment Section E Assertion Reason Type

Questions

A. Thermochemical data

B. I.E. data

C. E.A. data

D. Both (2) & (3)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Y79nvD9TfphK


1. Statement-1 : Nitrogen and oxygen have

nearly same size. 

Statement-2 : Electron-electron repulsions

tend to increase the size.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

https://dl.doubtnut.com/l/_x0Wz6FJyLnNg


C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: B

Watch Video Solution

2. Statement-1 : Nitrogen can form maximum

four bonds with hydrogen. 

Statement-2 : Valency is the combining

capacity of element and it is always constant

https://dl.doubtnut.com/l/_x0Wz6FJyLnNg
https://dl.doubtnut.com/l/_4fHBxAt7Cqad


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-2

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-2

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4fHBxAt7Cqad


3. Statement-1 : Noble gases have high

ionisation energy. 

Statement-2 : Noble gases belong to 

group.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

18th

https://dl.doubtnut.com/l/_4fHBxAt7Cqad
https://dl.doubtnut.com/l/_Bwt3xBVRK1XQ


for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: B

Watch Video Solution

4. He and Be both have the same outer

electronic configuration like  type. 


Statement-2 : Both are chemically inert.

ns2

https://dl.doubtnut.com/l/_Bwt3xBVRK1XQ
https://dl.doubtnut.com/l/_wj85W8hbpakA


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-4

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-4

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wj85W8hbpakA


5. Statement-1: Fluorine has less electron

affinity than chlorine. 

Statement-2 : Due to small size, more electron-

electron repulsions are observed in F.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

https://dl.doubtnut.com/l/_wj85W8hbpakA
https://dl.doubtnut.com/l/_ZjzOXXjHILvj


for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

Watch Video Solution

6. Statement-1: Long form of periodic table

exactly explain the position of hydrogen. 

Statement-2 : Hydrogen is most abundent

element of the universe.

https://dl.doubtnut.com/l/_ZjzOXXjHILvj
https://dl.doubtnut.com/l/_q6lPSAEIqc1O


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-6

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-6

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_q6lPSAEIqc1O


7. Statement-1 : He and  have same size 


Statement-2 : He and  have same number

of electrons in valence shell.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

H −

H −

https://dl.doubtnut.com/l/_q6lPSAEIqc1O
https://dl.doubtnut.com/l/_xrhgS4oINbUM


C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D

Watch Video Solution

8. Statement-1 :  is more acidic than BeO. 


Statement-2 : Ionisation energy of B is more

than Be.

B2O3

https://dl.doubtnut.com/l/_xrhgS4oINbUM
https://dl.doubtnut.com/l/_WVEMbqrFRyrr


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WVEMbqrFRyrr


9. Statement-1 : Bond dissociation energy of

 is more than . 


Statement-2 : Due to smaller size of fluorine

there are greater electron repulsions between

the F atoms than Cl atoms.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

F2 Cl2

https://dl.doubtnut.com/l/_WVEMbqrFRyrr
https://dl.doubtnut.com/l/_pWJBJrbhIvr0


B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_pWJBJrbhIvr0


10. Statement-1 : Ions , ,  are

isoelectronic. 

Statement-2 : In each ion, the total number of

electrons are 10.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

Na+ Mg2 + Al3 +

https://dl.doubtnut.com/l/_zlPjIPCgFuun


C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

Watch Video Solution

11. Statement-1 : First Ionisation energy of

beryllium is more than boron. 

Statement-2 : In boron, 2p orbital is fully filled,

whereas, in beryllium, it is not fully filled.

https://dl.doubtnut.com/l/_zlPjIPCgFuun
https://dl.doubtnut.com/l/_YBRvf9m4oAdK


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YBRvf9m4oAdK


12. Fluorine is more electronegative than

chlorine. Is the statement true ?

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

https://dl.doubtnut.com/l/_YBRvf9m4oAdK
https://dl.doubtnut.com/l/_XuXGOD1UxSjy


D. Statement-1 is False, Statement-2 is True

Answer: B

Watch Video Solution

13. Statement-1 : Ionization energy of s-

electrons are more than the p-electrons for

the same shell. 

Statement-2 : s electrons are closer to the

nucleus than p-electrons, hence, more tightly

attached.

https://dl.doubtnut.com/l/_XuXGOD1UxSjy
https://dl.doubtnut.com/l/_J9GrGlyf7GQ2


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_J9GrGlyf7GQ2


14. Statement-1 : Li and Mg show diagonal

relationship. 

Statement-2 : Li and Mg have nearly same

atomic radius.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

https://dl.doubtnut.com/l/_J9GrGlyf7GQ2
https://dl.doubtnut.com/l/_emWb0J7R1RfD


Assignment Section F Matrix Match Type

Questions

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_emWb0J7R1RfD


1. Match the following 

Watch Video Solution

2. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_1SnG3F2m9Unx
https://dl.doubtnut.com/l/_x23vdoLqHHKK
https://dl.doubtnut.com/l/_xg9TbMuv14Q0


3. Match the following 

Watch Video Solution

4. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_xg9TbMuv14Q0
https://dl.doubtnut.com/l/_U38ZiQdH5gRf


Assignment Section G Integer Answer Type

Questions

1. What is the group no of element Une ?

Watch Video Solution

2. What is screening constant for outer

electron of H?

Watch Video Solution

https://dl.doubtnut.com/l/_pnIARZnymjXU
https://dl.doubtnut.com/l/_x2XwMEYX8xbp


3. Which group will show lowest second

ionization energy ? (Non radioactiv element)

Watch Video Solution

4. The element which has highest electron

affinity will belong with group number x. Then

x-10 will be.

Watch Video Solution

https://dl.doubtnut.com/l/_gEPPc2n84M92
https://dl.doubtnut.com/l/_BgX9qMobn4tm


Assignment Section H Multiple True False Type

Questions

5. The largest group in Modern periodic table

is

Watch Video Solution

1. Statement-1 : Electronegativity of an element

depends on ionisation energy of that element.

Statement-2 : Electroegativity regularly

decreases along the group. 

https://dl.doubtnut.com/l/_Z9PP5Rh38buu
https://dl.doubtnut.com/l/_OXFzpGE6LgQb


Statement-3 : Fluorine is the most

electronegative element.

A. T F T

B. T T T

C. F T T

D. F F T

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OXFzpGE6LgQb


2. Statement-1 : In Mendeleev's periodic table

arrangement of elements depend on their

atomic weight. 

Statement-2 : Some vacant sites were present

in this periodic table. 

Statement-3 : Position of isotope was well

explained by Mendeleev

A. T T F

B. F F T

C. T F T

https://dl.doubtnut.com/l/_RYnzGWrOUcPq


D. T F F

Answer: A

Watch Video Solution

3. Statement-1 : Tendency of salts of group II

getting hydrated increases down the group. 

Statement-2 : Alkali metal salts have less

tendency to get hydrated than group II salts. 

Statement-3 : Hydration of salts occur due to

imbalance of sizes of cation and anion.

https://dl.doubtnut.com/l/_RYnzGWrOUcPq
https://dl.doubtnut.com/l/_hFY8AvnfuKqB


Assignment Section I Subjective Type Questions

A. F T F

B. T T T

C. T F T

D. F T T

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hFY8AvnfuKqB


1. Covalent radius of an element having 82

electrons in extranuclear part and 82 protons

in the nucleus is 146 Å. Calculate the

electronegativity on Allred Rochow scale of

that element.

Watch Video Solution

2. Calculate the energy required to convert all

the atoms of M (atomic number : 12) to 

ions present in 12 mg of metal vapours. First

M 2 +

https://dl.doubtnut.com/l/_khtLIvXenV0M
https://dl.doubtnut.com/l/_qjI91MVPtbEH


and second ionization enthalpies of M are

737.77 and 1450.73  respectively.

Watch Video Solution

kJ  mol − 1

3. Calculate the electronegativity value of

chlorine on Mulliken's scale, given that

 and .

Watch Video Solution

IP = 13.0eV EA = 4.0eV

https://dl.doubtnut.com/l/_qjI91MVPtbEH
https://dl.doubtnut.com/l/_ZpzQmRXzwK1L


4. There are three elements I, II, III and their

ionisation energies are given below. 

 


Now identify 

(a) Which element is most reactive ? 

(b) Which element is noble gas ? 

(c ) Which can form a stable dihalide ?

Watch Video Solution

IE1 IE2

I2372 5251

II900 1760

III520 7300

https://dl.doubtnut.com/l/_CItjlXo2JkXB


5. Out of Ne and  which has higher

ionisation energy and why ?

Watch Video Solution

Na+

6. Alkali metals and coinage metals both have

 electron in outermost orbitals. 


(a) Out of these two groups, which group

elements have higher stability. Explain. 

(b) Compare the polarising power of their

cation.

ns1

https://dl.doubtnut.com/l/_RxdAafCpH7Ma
https://dl.doubtnut.com/l/_5vI39c5HPEVJ


Watch Video Solution

7. Why are lanthanides and actinides place at

the bottom of the periodic table?

Watch Video Solution

8. Arrange the following in increasing order as

directed 

(a)  (Stability) 


(b) B, Al, Ga, In, Tl (First Ionisation energy)

Watch Video Solution

Li+ , Be+ , B+ , C +

https://dl.doubtnut.com/l/_5vI39c5HPEVJ
https://dl.doubtnut.com/l/_nOmNYeCfBNdN
https://dl.doubtnut.com/l/_zopcxVAxRfDg


Assignment Section J Aakash Challengers

Questions

9. Why  is amphoteric while  is

acidic ?

Watch Video Solution

Al2O3 B2O3

1. Which of the following has the largest

ionisation energy ?

https://dl.doubtnut.com/l/_zopcxVAxRfDg
https://dl.doubtnut.com/l/_hpZud1SnNcjK
https://dl.doubtnut.com/l/_8WSg4ttXoOrE


A. Zn

B. Sc

C. Cd

D. Hg

Answer: D

Watch Video Solution

2. s orbital is more penetrating because

https://dl.doubtnut.com/l/_8WSg4ttXoOrE
https://dl.doubtnut.com/l/_L2PsMWpP19G6


A. Probability of finding electron is

maximum on the surface of nucleus

B. s orbital is non-directional

C. s orbital is spherical in shape

D. All of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_L2PsMWpP19G6


3. The correct pair regarding property given in

bracket is

A.  (Oxidising character)

B.  (Electron affinity)

C.  (Electronegativity)

D.  (Ionisation energy)

Answer: A

Watch Video Solution

F2 > Cl2

F > Cl

F < Cl

O > N

https://dl.doubtnut.com/l/_SHk7F0xwpp9F
https://dl.doubtnut.com/l/_k1Y2h97qb8nZ


4. Choose the correct statement

A. Isotopes have nearly same chemical

properties

B. Isoelectronic species must be neutral

C. Na and K have nearly same 

D. All of these

Answer: D

Watch Video Solution

Zeffective

https://dl.doubtnut.com/l/_k1Y2h97qb8nZ


5. Maximum number of electrons in  shell is

A. Option 1. 

B. Option 2. 2(l+1)

C. Option 3. 

D. Option 4. 

Answer: C

Watch Video Solution

nth

n2

2n2

(l + 1)2

https://dl.doubtnut.com/l/_VnZ9o53Sr27o


Exercise

6. Choose the correct regarding E.N.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B > Al > Ga > In

B > Al = Ga = In

B > In > Ga > Al

B > Al < Ga < In

https://dl.doubtnut.com/l/_NQBBJFqn9CDh


1. All the elements in a group in the periodic

table have the same

A. Atomic number

B. Electronic conifiguration

C. Atomic weight

D. Number of electrons in the valence shell

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_MSvEbWJxaxLI
https://dl.doubtnut.com/l/_SbDFlRO1pxho


2. Which pair of elements has the same

characteristic chemical properties ?

A. Z=13 , Z=22

B. Z=3 , Z=11

C. Z=4 , Z=24

D. Z=2 , Z=4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SbDFlRO1pxho
https://dl.doubtnut.com/l/_IogBMN3vjSMX


3. Write the atomic number of the element

present in the third period and seventeenth

group of the periodic table.

A. 15

B. 16

C. 9

D. 17

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_IogBMN3vjSMX
https://dl.doubtnut.com/l/_gw6DrehwypRZ


4. Chalcogens are elements of the group

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

17th

15th

16th

14th

5. Representative elements are elements of

https://dl.doubtnut.com/l/_gw6DrehwypRZ
https://dl.doubtnut.com/l/_GYNEDYk0kcyk


A. s - block

B. s-block and p-block

C. d-block or transition elements

D. d-block and f-block

Answer: B

Watch Video Solution

6. Which general electronic configuration of

the element does not represent a non-metal ?

https://dl.doubtnut.com/l/_GYNEDYk0kcyk
https://dl.doubtnut.com/l/_hdwbEML6STFL


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2, np4

ns2, (n − 1)qn− 10, np5

ns1 − 2, (n − 1)d1 − 10

ns2, (n − 1)d1 − 10, np1 − 6

7. Which of the following is not a

representative element ?

https://dl.doubtnut.com/l/_hdwbEML6STFL
https://dl.doubtnut.com/l/_HZLyS9eEXqNr


A. Z=37

B. Z = 31

C. Z=54

D. Z=24

Answer: D

Watch Video Solution

8. The element having no neutron in the

nucleus of its atom is- 

(a). hydrogen

https://dl.doubtnut.com/l/_HZLyS9eEXqNr
https://dl.doubtnut.com/l/_M4mnhMOC4WzI


(b). nitrogen 

(c). helium

(d). boron

A. H

B. Mg

C. He

D. Ag

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_M4mnhMOC4WzI
https://dl.doubtnut.com/l/_WDugFiRIokha


9. Number of groups in d-block

A. 5

B. 10

C. 15

D. 20

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WDugFiRIokha


10. Which of the following is transition

element ?

A. P

B. Zn

C. Cu

D. Na

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HI3sf06bV2zp
https://dl.doubtnut.com/l/_SFxysPVgOLmU


11. Correct order of radii

A. 

B. 

C. 

D. N , He, Ne

Answer: D

Watch Video Solution

Na > Mg > AI

Na+ > Mg2 + > AI 3 +

I + < I < I −

https://dl.doubtnut.com/l/_SFxysPVgOLmU


12. Which pair of elements shows positive

elecron gain enthalpy ?

A. He , N , O

B. Ne , N, CI

C. O, CI,F

D. N, He, Ne,

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_I68pvh2rfsi1
https://dl.doubtnut.com/l/_DxE9Y1Engw4B


13. Which electronic configuration of an

element has abnormally high difference

between second and third ionization

enthalpies ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s22s22p63s1

1s22s22p63s23p1

1s22s22p63s23p2

1s22s22p63s2

https://dl.doubtnut.com/l/_DxE9Y1Engw4B


14. Which of the following has the highest

negative electron gain entahlpy ?

A. F

B. 

C. 

D. 

Answer: B

Watch Video Solution

O−

Na−

Mg2 +

https://dl.doubtnut.com/l/_DxE9Y1Engw4B
https://dl.doubtnut.com/l/_V90n6wZVePtz


15. The outermost electronic configuration of

the most electronegative element is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2s22p3

2s22p4

2s22p5

3s23p5

https://dl.doubtnut.com/l/_jjtY6tfV9Xyk
https://dl.doubtnut.com/l/_dSIBEKEYNzuk


16. Which orbital diagram gives an insight

ionization energy ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dSIBEKEYNzuk


17. The largest atomic radius will be of

A. Be

B. Na

C. F

D. Mg

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VqinXXZut5Xt


18. Highest amount of energy will be required

for the removal of electron from

A. s - subshell

B. p-subshell

C. d-subshell

D. f-subshell

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wJePON0G5bOv
https://dl.doubtnut.com/l/_BWiuXvJzjENP


19. Pick the incorrect statement about the

factors affecting ionization energy

A. Half filled or full filled atomic orbitals

have high ionization energy

B. more is the shielding of valence

electrons more is the ionization energy

C. Larger is the atomic radii lower is

ionization energy

D. lonization enthalpy  effective nuclear

charge

∝

https://dl.doubtnut.com/l/_BWiuXvJzjENP


Answer: B

Watch Video Solution

20. The correct order of first ionization

potential among following elements Be, B, C is

A. 

B. B = Be =C

C. 

D. 

B < Be < C

Be < C < B

Be < B < C

https://dl.doubtnut.com/l/_BWiuXvJzjENP
https://dl.doubtnut.com/l/_IwS01XqYcZY6


Answer: A

Watch Video Solution

21. Which of the following shows diagonal

relationship ?

A. Boron and sillicon

B. Boron and aluminium

C. Boron and gallium

D. Boron and carbon

https://dl.doubtnut.com/l/_IwS01XqYcZY6
https://dl.doubtnut.com/l/_g0hfK7tpWrSa


Answer: A

Watch Video Solution

22. Which of the following electronic

configuration represents the most metallic

element ?

A. 

B. 

C. 

D. 

[He]2s1

[Ne]3s1

[Ar]4s1

[Kr]5s1

https://dl.doubtnut.com/l/_g0hfK7tpWrSa
https://dl.doubtnut.com/l/_yF2z25mGUNqW


Answer: D

Watch Video Solution

23. The group of elements in which the last

electron is present the anti-penultimate shell

of atom called

A. f-block elements

B. d - block elements

C. p-block elements

D. s-block elements

https://dl.doubtnut.com/l/_yF2z25mGUNqW
https://dl.doubtnut.com/l/_ueh1wzbEvfFZ


Answer: A

Watch Video Solution

24. Find the incorrect statement.

A. Valence electron and valency is same for

group 1

B. p- block element are metals nonmetals

and metalloids

https://dl.doubtnut.com/l/_ueh1wzbEvfFZ
https://dl.doubtnut.com/l/_KEhlZs6toNrr


C. Noble gases have 8 valence electrons

except He

D. Smallest atom of periodic table is He

Answer: D

Watch Video Solution

25. The effective nuclear charge across the

period (from left to right)

A. Increases

https://dl.doubtnut.com/l/_KEhlZs6toNrr
https://dl.doubtnut.com/l/_tCXdmtRdhrwn


B. Decreases

C. First increases and then decreases

D. first decreases and then increases

Answer: A

Watch Video Solution

26. Valence electrons in the atom of element A

is 4 and in the element B is 2. Most probable

compound formed from A and B is

https://dl.doubtnut.com/l/_tCXdmtRdhrwn
https://dl.doubtnut.com/l/_7X2AruRuZ10w


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A2B3

AB3

AB2

A2B

27. The most acidic oxide is:

A. SO2

https://dl.doubtnut.com/l/_7X2AruRuZ10w
https://dl.doubtnut.com/l/_dpWpP3cxA2ph


B. 

C. 

D. 

Answer: D

Watch Video Solution

SO3

NO2

Cl2O7

28. The most basic oxide among the following

is

A. Na2O

https://dl.doubtnut.com/l/_dpWpP3cxA2ph
https://dl.doubtnut.com/l/_Csy8ceX4UltP


B. CaO

C. MgO

D. FeO

Answer: A

Watch Video Solution

29. Neutral oxide out of following is

A. CO

B. NO

https://dl.doubtnut.com/l/_Csy8ceX4UltP
https://dl.doubtnut.com/l/_0rkXG7m4t6XL


C.  O

D. All of these

Answer: D

Watch Video Solution

N2

30. Which of the following is amphoteric oxide

?

A. MgO

B. BeO

https://dl.doubtnut.com/l/_0rkXG7m4t6XL
https://dl.doubtnut.com/l/_3QRFMs05YBUQ


Assignment Section A Objective Type Questions

C. CO

D. 

Answer: B

Watch Video Solution

CO2

1. Define or explain : 

Modern periodic law.

https://dl.doubtnut.com/l/_3QRFMs05YBUQ
https://dl.doubtnut.com/l/_lGtzv7JEXVqr


A. The physical and chemical properties of

the elements are periodic function of

their atomic numbers

B. The physical and chemical properties of

the elements depend upon the energy of

the electrons

C. The physical and chemical properties of

the elements depends upon atomic wt.

D. None of these

Answer: A

https://dl.doubtnut.com/l/_lGtzv7JEXVqr


Watch Video Solution

2. Which one of the following statements

related to the modern periodic table is

incorrect?

A. The p-block has 6 column because a

maximum of 6 electrons can occupy all

the orbitals in the p - subshell

B. The d-block has 8 columns because a

maximum of 8 electrons can occupy all

https://dl.doubtnut.com/l/_lGtzv7JEXVqr
https://dl.doubtnut.com/l/_lqhIEIRSaWy6


the orbitals in the d - subshell

C. Each block contains a number of

columns equal to number of electrons

that can occupy the subshell

D. The block indicates the value of

azimuthal quantum number for the last

subshell which received electrons

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_lqhIEIRSaWy6
https://dl.doubtnut.com/l/_5mjVlXbSZgMe


3. Elements which generally exhibit multiple

oxidation states and whose ions are usually

coloured are

A. Metalloids

B. Transition elements

C. Non - metals

D. Gasses

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5mjVlXbSZgMe


4. The IUPAC name of element having atomic

number 108 is

A. Unniloctium

B. Ununoctium

C. Nilniloctinium

D. Ununoctinium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hCwyGIXYDJ1k
https://dl.doubtnut.com/l/_FTI3UztBFhev


5. Which of the following is a representative

element ?

A. Zn

B. Sr

C. Cu

D. Fe

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_FTI3UztBFhev


6. When a neutral atom is converted into

cation, there is

A. Atomic weight increases

B. Atomic weight decreases

C. Size increases

D. Size decreases

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SDBWevtpWVTR
https://dl.doubtnut.com/l/_vz18hD9ANmbG


7. Of the following which one is a correct

statement

A. Ionic radius of a metal is same as its

atomic radius

B. The ionic of a metal is greater than its

atomic radius

C. The atomic radius of a non - metal is

more than its ionic radius

D. The ionic radius of a metal is less than

its atomic radius

https://dl.doubtnut.com/l/_vz18hD9ANmbG


Answer: A

Watch Video Solution

8. Which of the following  is

largest in size ?

A. 

B. 

C. 

D. All of these

N 3 − , O2 − , F −

N 3 −

O2 −

F −

https://dl.doubtnut.com/l/_vz18hD9ANmbG
https://dl.doubtnut.com/l/_HP917o4osHXO


Answer: C

Watch Video Solution

9. Which of the following is not a correct for

iso - electronic ions ?

A. They have the same number of electrons

around their nuclei

B. Higher the atomic number higher will be

positive charge in a series of

https://dl.doubtnut.com/l/_HP917o4osHXO
https://dl.doubtnut.com/l/_asirow97RVXM


isoelectronic ions of same period

C. Isoelectronic ions have same electric

charge

D. An isoelectronic series may have both

positively and negatively charged ions

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_asirow97RVXM


10. The radii of  and  are in the

order of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F , F − , O O− 2

O2 − > O > F −F

F − > O2 − > F > O

O2 − > F − > O > F

O2 > F − > F > O

https://dl.doubtnut.com/l/_vL7zuTmzNbSB
https://dl.doubtnut.com/l/_XZh2n8lcGgqx


11. Which of the following is correct ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

rionic ∝ Z

rionic ∝ Zeff

rionic ∝
1

Zeff

rionic ∝ Z2
eff

12. Which ion has the largest radius ?

https://dl.doubtnut.com/l/_XZh2n8lcGgqx
https://dl.doubtnut.com/l/_ccTwxn9XR2Yx


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Se2 −

F −

O2 −

Rb+

13. The electronic configuration of an element

is . What is the atomic

number of the element which is just below the

1s22s22p63s23p3

https://dl.doubtnut.com/l/_ccTwxn9XR2Yx
https://dl.doubtnut.com/l/_jag4pddMGCz1


above element in the periodic table ? 

49


31


34


33

A. 36

B. 49

C. 33

D. 34

Answer: D

https://dl.doubtnut.com/l/_jag4pddMGCz1


Watch Video Solution

14. Which of the elements has the greatest

electron affinity among the halogens.

A. I

B. Br

C. F

D. CI

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jag4pddMGCz1
https://dl.doubtnut.com/l/_4dfUETZG0BTU


15. General electronic configuration of

transition metals is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ns1

ns2np5

ns0 − 2(n − 1)d1 − 10

ns2(n − 1)d10

https://dl.doubtnut.com/l/_4dfUETZG0BTU
https://dl.doubtnut.com/l/_Pp9LthY2vKvI


16. Which of the following is the correct order

of size of the given species

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I + > I − > I

I − > I > I +

I > I − > I +

I > I + > I −

https://dl.doubtnut.com/l/_Z2EpotMkVSlv
https://dl.doubtnut.com/l/_n8kN3wwZxMgo


17. The first ionisation potential (in eV ) of Be

and B, respactively are

A. 8.29, 8.29

B. 

C. 

D. 

Answer: A

Watch Video Solution

9.32, 9.32

8.29, 9.32

9.32, 8.29

https://dl.doubtnut.com/l/_n8kN3wwZxMgo


18. Identify the correct order of the size of the

following .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ca2 + < K + < Ar < CI − < S2

Ar < Ca2 + < K + < CI − < S2 −

Ca2 + < Ar < K + < CI − < S2 −

Ca2 + < K + < Ar < S2 − < CI −

https://dl.doubtnut.com/l/_zRXUWMWHPyrK
https://dl.doubtnut.com/l/_7mtUt8bDD59n


19. Which of the following processes involves

absorption of energy?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl(g) + e → Cl− (g)

O− (g) + e− → O2 − (g)

O(g) + e− → O− (g)

S(g) + e− → S − (g)

https://dl.doubtnut.com/l/_7mtUt8bDD59n


20. The elements Eka Aluminium and Eka

silicon named by Mendeleev known today as

A. Gallium and Germanium

B. Aluminium and Sillicon

C. Iron and Sulphur

D. Boron and Technitium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AOcoEpYe9zeE
https://dl.doubtnut.com/l/_5MMg4AIB4lDU


21. Which of the following oxides is not

expected to reast with sodium hydroxide ?

A. 

B. 

C. NO

D. 

Answer: B

Watch Video Solution

Na2O

CaO

CI2O7

https://dl.doubtnut.com/l/_5MMg4AIB4lDU


22. The element with highest electron affinity

will belong to

A. Period 2 , group 17

B. Period 3, group 17

C. Period 2, group 18

D. Period 2, group 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gPsHWBTLRUUN
https://dl.doubtnut.com/l/_XcBfcmU6egoa


23. Energy required for the ionisation of 0.02

gram atom of magnesium is x k J . The amount

of energy required to ionise 1 atom of

magneslum is

A. xkJ

B.  J

C.  J

D. 

Answer: D

Watch Video Solution

X

0.02NA

x*103

0.02NA

xNAkJ

https://dl.doubtnut.com/l/_XcBfcmU6egoa


24. Which is mismatched regarding the

position of the element as given below ?

A.  period

B. Y(Z=100 ) -f block ,  period

C. Z(Z=115) -d block ,  period

D. Both (1) & (3)

Answer: C

Watch Video Solution

X(Z = 89) − fblock, 6th

7th

7th

https://dl.doubtnut.com/l/_XcBfcmU6egoa
https://dl.doubtnut.com/l/_647FZjcAaB6x


25. Match the following regarding nature of

the oxides 

A. a (ii) , b(i) , c(iii) , d(iv)

B. a(iv) , b(i) , c(iii) , d(ii)

C. a(iv) , b(i) , c(ii) , d(iii)

D. a(ii) , b(i) , c(iv), d(iii)

Answer: C

Column-I ColumnII

a. N2O (i)Basic

b. BaO (ii)Amphoteric

c. As2O3 (iii)Acidic

d. Cl2O7 (iv)Neutral

https://dl.doubtnut.com/l/_jb777jCPv36L


Assignment Section B Objective Type Questions

Watch Video Solution

1. The electronic configuration of the elements

X,Y, Z and J are given below . Which element

has the highest metallic character

A. X=2 , 8,4

B. Y = =2 ,8 ,8

C. Z=2,8,8,1

https://dl.doubtnut.com/l/_jb777jCPv36L
https://dl.doubtnut.com/l/_DjhvqHFYOfXY


D. J=2,8,8,7

Answer: C

Watch Video Solution

2. The electronegativity follows the order

A. 

B. 

C. 

D. 

F > O > CI > Br

F > CI > Br > O

O > F > CI > Br

CI > F > O > Br

https://dl.doubtnut.com/l/_DjhvqHFYOfXY
https://dl.doubtnut.com/l/_b614ddAGy6Tj


Answer: A

Watch Video Solution

3.  is isoelectronic with

A. 

B. Kr

C. Ar

D. 

Answer: C

Ca2 +

Mg2 +

Na+

https://dl.doubtnut.com/l/_b614ddAGy6Tj
https://dl.doubtnut.com/l/_WSrrkXWs4wSC


Watch Video Solution

4. An atom of an element has electronic

configuration 2,8,1. Which of the following

statement is correct ?

A. The valency of element is 7

B. The element exists as a triatomic

molecule

C. The element is metalloid

D. The element forms basic oxide

https://dl.doubtnut.com/l/_WSrrkXWs4wSC
https://dl.doubtnut.com/l/_5A8CJ8vXbkLD


Answer: D

Watch Video Solution

5. The symbol of element with atomic number

Z = 109

A. UnP

B. Uns

C. Uno

D. Une

https://dl.doubtnut.com/l/_5A8CJ8vXbkLD
https://dl.doubtnut.com/l/_AnRe3AgxIARY


Answer: D

Watch Video Solution

6. Pd has exceptional valence shell electronic

configuration of . It is a member of-

A.  period ,group 11

B.  period ,group 10

C.  period ,group 9

D.  period ,group 16

4d105s0

4th

5th

6th

3rd

https://dl.doubtnut.com/l/_AnRe3AgxIARY
https://dl.doubtnut.com/l/_c3576i28ez2U


Answer: B

Watch Video Solution

7. All elements in the third period have

A. Three complete shells

B. Three complete subshells

C. Three valence electrons

D. Three electrons less than octet .

Answer: B

https://dl.doubtnut.com/l/_c3576i28ez2U
https://dl.doubtnut.com/l/_n205BMABonf6


Watch Video Solution

8. Which of the following belongs to d-block

element?

A. 

B. 

C. 

D. 

Answer: D

[Rn]6d107s27p2

[Xe]4f 15d16s2

[Xe]4f 145d16s2

[Xe]5d16s2

https://dl.doubtnut.com/l/_n205BMABonf6
https://dl.doubtnut.com/l/_dI6PYK0jNYCU


Watch Video Solution

9. The order of screening effect of electron of

s,p,d and f orbitals of a given shell of an atom

on its outer shell electron is

A. 

B. 

C. 

D. 

Answer: A

s > p > d > f

s < p < d > f

s < p < d < f

s > p < d < f

https://dl.doubtnut.com/l/_dI6PYK0jNYCU
https://dl.doubtnut.com/l/_vtDjrWB4PXZV


Watch Video Solution

10. Which of the following sequence contains

atomic number of only representative

elements ?

A. 55 ,12 ,48 ,53

B. 13,23,54,83

C. 3,33,53,87

D. 22,33,55,66

Answer: C

https://dl.doubtnut.com/l/_vtDjrWB4PXZV
https://dl.doubtnut.com/l/_1bDq5dsZHfQP


Watch Video Solution

11. Which of the following pairs of atomic

numbers represents elements belonging to

the same group?

A. 11 and 20

B. 12 and 30

C. 13 and 31

D. 14 and 33

Answer: C

https://dl.doubtnut.com/l/_1bDq5dsZHfQP
https://dl.doubtnut.com/l/_f3IdpHn3JBYI


Watch Video Solution

12. Which of the following statements is

incorrect ?

A. The ionization potential of nitrogen is

greater than of oxygen

B. The electron affinity of fluorine is greater

than of chlorine .

C. The ionization potential of Mg is greater

than aluminium

https://dl.doubtnut.com/l/_f3IdpHn3JBYI
https://dl.doubtnut.com/l/_ssyqYv8GAZFC


D. The electronegativity of fluorine is

greater than that of chlorine

Answer: B

Watch Video Solution

13. Total number of elements present in 5 th

period of modern periodic table is

A. 2

B. 8

https://dl.doubtnut.com/l/_ssyqYv8GAZFC
https://dl.doubtnut.com/l/_uMZIwhgU29BF


C. 18

D. 32

Answer: C

Watch Video Solution

14. The electronic configuration of the atom

having maximum difference in first and second

ionzation enthalpies is

A. 1s22s22p63s2

https://dl.doubtnut.com/l/_uMZIwhgU29BF
https://dl.doubtnut.com/l/_5F6zLAcmStON


B. 

C. 

D. 

Answer: D

Watch Video Solution

1s22s22p63s23p1

1s22s22p63s23p2

1s22s22p63s1

15. Increase in atomic size down the group is

due to

A. increases in number of orbit

https://dl.doubtnut.com/l/_5F6zLAcmStON
https://dl.doubtnut.com/l/_FtWLpwocg7eo


B. increases in number of protons and

neutrons

C. increase in number of protons

D. increase in number of protons neutrons

and electrons

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FtWLpwocg7eo


16. In which of the following pairs the radii of

second species is greater than of first ?

A. K, Ca

B. H, He

C. 

D. 

Answer: B

Watch Video Solution

Mg+ , Mg2 +

O2 − , O−

https://dl.doubtnut.com/l/_fscwu6NYUJzg
https://dl.doubtnut.com/l/_MDMb4TfQJbdf


17. The successive ionization energies for

element X is given below 

 : 250 kJ  

 : 820 kJ  

 : 1100 kJ  

 : 1400 kJ  

Find out the number of valence electrons for

the elements X.

A. 3

B. 4

C. 2

IE1 mo− 1

IE2 mo− 1

IE3 mo− 1

IE4 mo− 1

https://dl.doubtnut.com/l/_MDMb4TfQJbdf


D. 1

Answer: D

Watch Video Solution

18. If you are given Avogadro's number of

atoms of a gas X . If half of the atoms are

converted into  by energy  . The IE of X

is

A. 

X +
g ΔH

2ΔH

NA

https://dl.doubtnut.com/l/_MDMb4TfQJbdf
https://dl.doubtnut.com/l/_AUmvLWzfCXaV


B. 

C. 

D. 

Answer: A

Watch Video Solution

2NA

ΔH

ΔH

2NA

NA

ΔH

19. Find the formula of halide of a metal whose

successive ionization enthalpies are x, 2x, 5x,

100 x kJ  respectivelymol − 1

https://dl.doubtnut.com/l/_AUmvLWzfCXaV
https://dl.doubtnut.com/l/_SeFFuhyiZgKl


A. MX

B. 

C. 

D. 

Answer: C

Watch Video Solution

MX2

MX3

M2X

20. Which of the following equation

represents first enthalpy of ionization ?

https://dl.doubtnut.com/l/_SeFFuhyiZgKl
https://dl.doubtnut.com/l/_GXDmySxdd0ql


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Hg ( s ) → Hg+
( g )

+ e−

Hg ( l ) → Hg+
( g )

+ e−

Hg ( g ) → Hg+
( g )

+ e−

Hg ( g ) → Hg2 +
( g )

+ e−

21. The energy required to convert all atoms

present in 1.2 g. magnesium to  ions if IEMg2 +

https://dl.doubtnut.com/l/_GXDmySxdd0ql
https://dl.doubtnut.com/l/_CWhAgvqLT7kW


and  of magnesium are 120 kJ  and

240 kJ  respectively

A. 18 kJ

B. 36 kJ

C. 360 kJ

D. 24 kJ

Answer: A

Watch Video Solution

IE2 mol − 1

mol − 1

https://dl.doubtnut.com/l/_CWhAgvqLT7kW


22. The process requiring absorption of energy

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F → F −

H → H +

Cl → Cl−

O → O−

https://dl.doubtnut.com/l/_vwu5aJNsntoj
https://dl.doubtnut.com/l/_DWP8HTyOk5Ew


23. The least electronegative element has the

following electronic configuration

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ns2np5

ns2np4

ns2np3

ns2np6

https://dl.doubtnut.com/l/_DWP8HTyOk5Ew


24. Considering the atomic number and

position in the periodic table, arrange the

following elements in the increasing order of

metallic character : Si, Be, Mg, Na, P.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P < Si < Be < Na < Mg

P < Si < Be < Mg < Na

Na > Be > Mg > Be > P

Na > Si > Mg > Be > P

https://dl.doubtnut.com/l/_PLvaiRwcDo2O


Watch Video Solution

25. With which of the following electronic

configuration of an atom has the lowest

ionization enthalpy:

A. 

B. 

C. 

D. 

Answer: B

1s22s22p3

1s22s22p63s1

1s22s22p6

1s22s22p5

https://dl.doubtnut.com/l/_PLvaiRwcDo2O
https://dl.doubtnut.com/l/_aDcFHYLBrMZ7


Assignment Section C Previous Year Question

Paper

Watch Video Solution

1. In which of the following option order of

arrangement does not match with the

variation of property indicated against it?

A.  ( Increasing

metallic radius )

Li < Na < K < Rb

https://dl.doubtnut.com/l/_aDcFHYLBrMZ7
https://dl.doubtnut.com/l/_LlGku3D5CZRe


B.  (

increasing ionic size )

C.  ( increasing first

ionisation enthalpy )

D.  ( increasing electron

gain enthalpy )

Answer: C::D

Watch Video Solution

AI 3 + < Mg2 + < Na+ < F −

B < C < N < O

I < Br < CI < F

https://dl.doubtnut.com/l/_LlGku3D5CZRe


2. The species Ar,  and  contain the

same number of electrons. In which order do

their radii increase?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K + Ca2 +

K + < Ar < Ca2 +

Ar < K + < Ca2 +

Ca2 + < Ar < K +

Ca2 + < K + < Ar

https://dl.doubtnut.com/l/_I0hFORUwNFko


3. Which of the following orders of ionic radii

is correctly represented ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H − > H + > , H

Na+ > F > O2

O2 − > F − > Na+

AI 3 + > Mg2 + > N 3 −

https://dl.doubtnut.com/l/_v9nm3FeAeS9C
https://dl.doubtnut.com/l/_wX2lLWuZRovn


4. Identify the wrong statement in the

following.

A. Atomic radius of the elements increases

as one moves down the fist group of the

periodic table

B. Atomic radius of the elements decreases

as one moves across from left to right in

the  period of the periodic table

C. Amongst isoelectronic species smaller

the positive charge on the cation smaller

2nd

https://dl.doubtnut.com/l/_wX2lLWuZRovn


is the ionic radius

D. Amongst isoelectronic species greater

the negative charge on the anion larger

is the ionic radius

Answer: C

Watch Video Solution

5. The first ionisation potential of  is .

The value of electron gain enthalpy of 

will be

Na 5.1eV

Na+

https://dl.doubtnut.com/l/_wX2lLWuZRovn
https://dl.doubtnut.com/l/_0f8glkHqOJ2c


A. 

B. 

C. 

D.  eV

Answer: C

Watch Video Solution

+2.55eV

+10.2eV

−5.1eV

−10.2

6. Which of the following represents the

correct order of increasing electron gain

https://dl.doubtnut.com/l/_0f8glkHqOJ2c
https://dl.doubtnut.com/l/_6MNbto89U3BR


enthalpy with negative sign for the elements

O, S, F and Cl?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CI < F < O < S

O < S < F < CI

F < S < O < CI

S < O < CI < F

https://dl.doubtnut.com/l/_6MNbto89U3BR


7. The correct order of decreasing ionic radii

among the following isoelectronic species is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ca2 + > K + > S2 − > CI − (2)

CI − > S2 − > Ca2 + > K +

S2 − > CI − > K + > Ca2 +

K + > Ca2 + > CI − > S2 −

https://dl.doubtnut.com/l/_kQWDqwfHl521
https://dl.doubtnut.com/l/_P50f06nL2kaW


8. Among the following Ca ,Mg, P and CI the

order of increasing atomic radius is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Mg < Ca < Cl < P

Cl < P < Mg < Ca

P < Cl < Ca < Mg

Ca < Mg < P < Cl

https://dl.doubtnut.com/l/_P50f06nL2kaW


9. Amongst the element with following

electronic configurations, which one of them

may have the highest ionization energy ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ne[3s23p2]

Ar[3d104s24p3]

Ne[3s23p1]

Ne[3s23p3]

https://dl.doubtnut.com/l/_kkEiTJog4wzJ


10. The correct order of the size is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ca2 + < Ar < K + < CI − < S2 −

Ca2 + < K + < Ar < S2 − < CI −

Ca2 + < K + < Ar < CI −S2 −

Ar < Ca2 + < K + < CI − < S2 −

https://dl.doubtnut.com/l/_UkzVtMA7MCMF


11. Which one of the following arrangements

represents the correct order of electron gain

enthalpy of the given atomic species?


(a) 


(b)
 


(c)
 


(d)


A. 

B. 

C. 

Cl < F < S < O

O < S < F < Cl

S < O < Cl < F

F < Cl < O < S

CI < F < S < O

O < S < F < CI

S < O < CI < F

https://dl.doubtnut.com/l/_Ijqr89Y8OtDa


D. 

Answer: B

Watch Video Solution

F < CI < O < S

12. Which one of the following arrangement

represents the correct order of least negative

to most negative electron gain enthalpy for C ,

Ca , AI , F and O ?

A. Ca < Al < C < O < F

https://dl.doubtnut.com/l/_Ijqr89Y8OtDa
https://dl.doubtnut.com/l/_BMZT3WSITlfp


B. 

C. 

D. 

Answer: A

Watch Video Solution

Al < Ca < O < C < F

Al < O < C < Ca < F

C < F < O < Al < Ca

13. The electronic configuration of an element

is  . What is the

atomic number of the element which is just

1s22s22p63s23p64s23d104p2

https://dl.doubtnut.com/l/_BMZT3WSITlfp
https://dl.doubtnut.com/l/_vyV4VCFndne7


below the above element in the periodic table

?

A. 36

B. 49

C. 50

D. 54

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vyV4VCFndne7


14. Which of the following ion is the largest in

size ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K +

Ca2 +

CI −

S − 2

https://dl.doubtnut.com/l/_MbZIwg2I87HQ
https://dl.doubtnut.com/l/_cbz4NPjBcrNM


15. The electronic configuration of inner

transition elements is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ns1

ns2np5nd10

ns0 − 2(n − 1)d1 − 10(n − 2)f 1 − 14

ns2(n − 1)d0 − 1(n − 2)f 1 − 14

https://dl.doubtnut.com/l/_cbz4NPjBcrNM


16. Which of the following has the smallest

size ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AI 3 +

F −

Na+

Mg2 +

https://dl.doubtnut.com/l/_AUJRYtwyNoyL
https://dl.doubtnut.com/l/_uBhVpNe0MYDZ


17. Which of the following is correct order of

the size of aluminium species ?

A. 

B. 

C. 

D. All of these

Answer: A

Watch Video Solution

Al > Al+ > Al2 +

Al2 + > Al+ > Al

Al2 + = Al+ = Al

https://dl.doubtnut.com/l/_uBhVpNe0MYDZ


18. The first ionization potential (eV) of N and

P respectively are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

8.29, 8.29

11.32, 11.32

8.29, 11.32

11.32, 8.21

https://dl.doubtnut.com/l/_cKTNyZVR110U
https://dl.doubtnut.com/l/_dkMozUj8N66c


19. The correct order of first ionization

potential among following elements, Be, B, C,N

& O is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B < Be < C < O < N

B < Be < C < N < O

Be < B < C < N < O

Be < B < C < < O < N

https://dl.doubtnut.com/l/_dkMozUj8N66c
https://dl.doubtnut.com/l/_1spRaWI2DCR0


20. An atom has electronic configuration

 you will place it in

A. Fifth

B. Fifteenth

C. Second

D. Third

Answer: A

Watch Video Solution

1s2, 2s2, 2p6, 3s2, 3d3, 4s2

https://dl.doubtnut.com/l/_1spRaWI2DCR0


21. Ionic radii are

A. Inversely proportional to effective

nuclear charge

B. Inversely proportional to square of

effective nuclear charge

C. Directly proportional to effective nuclear

charge

D. Directly proportional to square effective

nuclear charge

https://dl.doubtnut.com/l/_hbxui7J5Jm66


Answer: A

Watch Video Solution

22. Four successive members of the first row

transition elements are listed below with their

atomic number. Which one of them is

expected to have the highest third ionisation

enthalpy ?

A. Vanadium ( Z= 23 )

B. Chromium ( Z= 24)

https://dl.doubtnut.com/l/_hbxui7J5Jm66
https://dl.doubtnut.com/l/_6f5lxgFOJ0GX


C. Manganesc ( Z=25)

D. Iron ( Z=26)

Answer: C

Watch Video Solution

23. The element with highest electronegativity

will belong to

A. Period 2, group 17

B. Period 3, group 17

https://dl.doubtnut.com/l/_6f5lxgFOJ0GX
https://dl.doubtnut.com/l/_zRINoxhZaQQ3


C. Period 2, group 18

D. Period 2, group 1

Answer: A

Watch Video Solution

24. The first second and third ionisation

energies of AI are 587 , 1817 and 2745 kJ 

respectively . Calculate the energy required to

convert all the atoms of AI to  present in

270 mg of AI vapours

mol − 1

AI + 3

https://dl.doubtnut.com/l/_zRINoxhZaQQ3
https://dl.doubtnut.com/l/_phpnUWpe6KWb


A. 5149kJ

B. 51.49 kJ

C. 2745 kJ

D. 514.9 kJ

Answer: B

Watch Video Solution

25. The size of ionic species is correctly given

in the order

https://dl.doubtnut.com/l/_phpnUWpe6KWb
https://dl.doubtnut.com/l/_mKWZbqQNWSsH


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na+ > Mg+ 2 > CI + 7 > Sj4 +

Na+ > Mg+ 2 > Si4 + > CI + 7

CI + 7 > Si+ 4 > Mg+ 2 > Na+

CI + 7 > Na+ > Mg+ 7 > Si+ 4

26. Match the following regarding nature of

the oxides 

https://dl.doubtnut.com/l/_mKWZbqQNWSsH
https://dl.doubtnut.com/l/_dxcsv5DNqi1L


A. a(ii) , b(i) , c(ii) , d(iv)

B. a(iv) , b(i) , c(ii) , d(ii)

C. a(iv) , b(i) , c(ii) , d(iii)

D. a(ii) , b(i) , c(iv) d(iii)

Answer: C

Watch Video Solution

Column-I   Column- II

a. H2O (i)Basic

b. Na2O (ii)Amphoteric

C. ZnO (iii) Acidic

d. SO3 (iv) Neutral

https://dl.doubtnut.com/l/_dxcsv5DNqi1L
https://dl.doubtnut.com/l/_TVoPlmUVFVmw


27.  is isoelectronic with which of the

following ions ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Be2 +

H +

Li+

Na+

Mg2 +

https://dl.doubtnut.com/l/_TVoPlmUVFVmw


Assignment Section D Assertion Reason Type

Question

1. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A: Be and AI show diagonal relationship . 

R: Be and AI are diagonal to each other in the

periodic table .

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

https://dl.doubtnut.com/l/_rnsgaIPWbXb4


the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rnsgaIPWbXb4


2. Assertion: The first ionisation energy of

aluminium is lower than that of magnesium. 

Reason: The ionic radius of aluminium is

smaller than that of magnesium.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

https://dl.doubtnut.com/l/_rnsgaIPWbXb4
https://dl.doubtnut.com/l/_fIXmK3wc3Y3k


of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fIXmK3wc3Y3k


3. Assertion(A) :  and  have similar

electronic configuration of the type . 


Reason (r ): Both are chemically inert.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

He Be

ns2

https://dl.doubtnut.com/l/_ujsoj0Lj6lOH


C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: C

Watch Video Solution

4. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

https://dl.doubtnut.com/l/_ujsoj0Lj6lOH
https://dl.doubtnut.com/l/_GO1cdP6wUMED


A : Electron affinity of oxygen is higher than

suiphur. 

R : Number of valence orbitals containing

electrons are different.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

https://dl.doubtnut.com/l/_GO1cdP6wUMED


C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: D

Watch Video Solution

5. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

https://dl.doubtnut.com/l/_GO1cdP6wUMED
https://dl.doubtnut.com/l/_sXPHvHsRhKTT


A: Ionization enthalpy decreases on moving

down the group . 

R: Force of attraction between nucleus and

electrons decreases on moving down the

group.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

https://dl.doubtnut.com/l/_sXPHvHsRhKTT


C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: A

Watch Video Solution

6. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

https://dl.doubtnut.com/l/_sXPHvHsRhKTT
https://dl.doubtnut.com/l/_ilDEbpJaFExO


A : Atomic radii decreases in a period upto

halogen . 

R : van der Waal radii of CI is larger than its

covalent radii.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

https://dl.doubtnut.com/l/_ilDEbpJaFExO


C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: B

Watch Video Solution

7. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

https://dl.doubtnut.com/l/_ilDEbpJaFExO
https://dl.doubtnut.com/l/_07ivdWuH4FRZ


A : Lanthanum ( Z: 57) is lanthanoid . 

R : Valence electrons are present in 4 f orbital.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

https://dl.doubtnut.com/l/_07ivdWuH4FRZ


D. If both Assertion and Reason are false

statements then mark (4)

Answer: D

Watch Video Solution

8. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A :  is more basic than  . 
Na2O AI2O3

https://dl.doubtnut.com/l/_07ivdWuH4FRZ
https://dl.doubtnut.com/l/_mmNRFHMhdf4k


R : Sodium is less electropositive than

aluminium.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

https://dl.doubtnut.com/l/_mmNRFHMhdf4k


D. If both Assertion and Reason are false

statements then mark (4)

Answer: C

Watch Video Solution

9. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A : F is most electronegative element of

https://dl.doubtnut.com/l/_mmNRFHMhdf4k
https://dl.doubtnut.com/l/_pqzNx0IW4sq8


periodic table. 

R : CI is having highest electron affinity.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

https://dl.doubtnut.com/l/_pqzNx0IW4sq8


D. If both Assertion and Reason are false

statements then mark (4)

Answer: B

Watch Video Solution

10. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A : Cu, Ag, Au are known as coinage metal. 

R: Coinage metals are d-block metals .

https://dl.doubtnut.com/l/_pqzNx0IW4sq8
https://dl.doubtnut.com/l/_hwD2OEKS5604


A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

https://dl.doubtnut.com/l/_hwD2OEKS5604


Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hwD2OEKS5604

